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General English - General English

Question No.1 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
As the cost of living continues to surge, she will be unable to paying the fees if the
monthly wage does not.

 (A) to pay the fees if the monthly wage do not 
(B) to paying the fees if the monthly wage do not 
(C) to pay the fees if the monthly wage does not (Correct Answer) (Chosen

option) 
 (D) The given sentence is correct 

Question No.2 Marks: 1.00
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Fill in the blank with suitable tense.
 

James _______ the door.
 (A) paint 

(B) has painted (Correct Answer) (Chosen option) 
 (C) painting 

(D) had paint 
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Fill in the blanks with suitable Article from the given alternatives.
 

The Hindu is ______ Indian daily newspaper, headquartered at Chennai.
 (A) No article 

(B) a 
(C) the (Chosen option) 

 (D) an (Correct Answer)
 

Question No.4 Marks: 1.00
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Fill in the blank with suitable tense.
 

They _____________ a few days in Brazil next month.
 (A) spent 

(B) have spend 
(C) will spent 
(D) will spend (Correct Answer) (Chosen option) 
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Question No.5 Marks: 1.00
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Fill in the correct prepositions.
 

Japan has confirmed at least 156 cases of infection _________ the virus, and one
death.

 (A) by (Correct Answer) (Chosen option) 
 (B) between 

(C) beside 
(D) above 

Question No.6 Marks: 1.00
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Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
Science is a very difficult subject, but my teacher does a great job easing us through
it.

 (A) but my teacher do a great job easing us 
(B) but my teachers does a great job easing us 
(C) but my teachers does a greater job easing us 
(D) The given sentence is correct (Correct Answer) (Chosen option) 

 

Question No.7 Marks: 1.00
Bookmark     

Choose the word which best expresses the similar meaning of the given word "
PROTEAN ".

 (A) Inclusive 
(B) Versatile (Correct Answer)

 (C) Rigid 
(D) Careless 
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Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

 
A room or building for sick children in a boarding school

 (A) Sanatorium (Correct Answer) (Chosen option) 
 (B) Wardrobe 

(C) Tannery 
(D) Reservoir 
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Choose the word which expresses nearly the opposite meaning of the given word "
INCEPTION ".

 (A) Origin 
(B) Conclusion (Correct Answer) (Chosen option) 

 (C) Outset 
(D) Source 
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Question No.10 Marks: 1.00
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Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

 
A large bedroom for a number of people in a school or institution

 (A) Dormitory (Correct Answer) (Chosen option) 
 (B) Hutch 

(C) Hangar 
(D) Granary 
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Choose the best preposition from the given alternatives for the blank in the given
question

 
______________ an engineer, he is a novelist.

 (A) Against 
(B) Across 
(C) Besides (Correct Answer) (Chosen option) 

 (D) Beside 

Question No.12 Marks: 1.00
Bookmark     

Choose the correct article to complete the following sentence.
 

Australia’s jobless rate unexpectedly increased in ________ January despite a surge in
full-time employment.

 (A) an 
(B) No article (Correct Answer) (Chosen option) 

 (C) a 
(D) the 

Question No.13 Marks: 1.00
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Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
Because she was so chaotic in the shopping mall, Jane’s father refused to take her
shopping during the holidays.

 (A) she was so chaotic over the shopping mall (Chosen option) 
 (B) she so chaotic the shopping mall 

(C) she was so chaotic in an shopping mall 
(D) The given sentence is correct (Correct Answer)

 

Question No.14 Marks: 1.00
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Choose the word which means most nearly the same as the given word "
INDEFATIGABLE ".

 (A) Idle 
(B) Lazy 
(C) Vigorous (Correct Answer)
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(D) Wavering 

Question No.15 Marks: 1.00
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In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

 
(A) Are you looking for / (B) foods to beating / (C) the heat this season? / (D) No Error

 (A) C 
(B) B (Correct Answer) (Chosen option) 

 (C) A 
(D) D 
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Find the word which is correctly spelt from the given options.
 (A) Headquaters 

(B) Administrator (Correct Answer) (Chosen option) 
 (C) Inspirationel 

(D) Enterpreneur 
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Fill in the blanks with suitable Article from the given alternatives.
 

The court extended _________ last date for filing of claims and objections.
 (A) the (Correct Answer) (Chosen option) 

 (B) a 
(C) No article 
(D) an 
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Choose the word which expresses nearly the opposite meaning of the given word "
WHIMSICAL ".

 (A) Regular (Correct Answer)
 (B) Fantastic 

(C) Curious 
(D) Funny 
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Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

 
A family of young animals

 (A) Brood (Correct Answer) (Chosen option) 
 (B) Battery 

(C) Clique 
(D) Bevy 
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Question No.20 Marks: 1.00
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In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

 
(A) Barley is inherently cooling, / (B) anti-inflammatory and an / (C) wonderful detoxifier
for the liver. / (D) No Error

 (A) A 
(B) C (Chosen option) 

 (C) D 
(D) B (Correct Answer)

 

Question No.21 Marks: 1.00
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Find the word which is correctly spelt from the given options.
 (A) Rejuvennate 

(B) Occasionally (Correct Answer) (Chosen option) 
 (C) Negligance 

(D) Withdraal 
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Fill in the blank with suitable word from the given options.
 

She sat in the waiting room, ___________ her fingers nervously.
 (A) flicking (Correct Answer) (Chosen option) 

 (B) kicking 
(C) analysing 
(D) dropping 
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Fill in the blank with suitable word from the given options.
 

An army of ants ___________ our picnic, covering our blanket and basket full of food.
 (A) finished 

(B) listened 
(C) invaded (Correct Answer) (Chosen option) 

 (D) imagined 
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Find the word which is correctly spelt from the given options.
 (A) Unchangeable (Correct Answer) (Chosen option) 
 (B) Invareable 

(C) Genaration 
(D) Generuous 
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Choose the best preposition from the given alternatives for the blank in the given
question
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I am willing to donate thousand rupees _____________ the old age home.
(A) for (Correct Answer) (Chosen option) 

 (B) beside 
(C) from 
(D) at 

Odia Language - Odia Language

Question No.1 Marks: 1.00
Bookmark     

'କାଳକିଲମ'- େକଉଁ ସମାସ ? 
 

(A) �ଗୁି 

(B) �� (Correct Answer)
 

(C) ତ� ପରୁୁଷ (Chosen option) 
 

(D) ଅବ�ୟୀଭାବ 

Question No.2 Marks: 1.00
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େମା େଦଇ ଏ କାମ େହବନାହ� । େରଖା�ିତ ପଦଟ ିେକଉଁ ଅବ�ୟ ?
 

(A) ସ�ତସିଚୂକ ଅବ�ୟ 

(B) ବଭି�ିସଚୂକ ଅବ�ୟ (Correct Answer) (Chosen option) 
 

(C) �ଶ�ସଚୂକ ଅବ�ୟ 

(D) ବକି�ାଥ�କ ଅବ�ୟ 

Question No.3 Marks: 1.00
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ସବ�ଦା ସତ କୁହ । େରଖା�ିତ ପଦଟ ିେକଉଁ ଅବ�ୟ ?
 

(A) ବେିଯାଜକ ଅବ�ୟ 

(B) କାଳେବାଧକ ଅବ�ୟ (Correct Answer) (Chosen option) 
 

(C) ସଂେଯାଜକ ଅବ�ୟ 

(D) ନେିଷଧାଥ�କ ଅବ�ୟ 

Question No.4 Marks: 1.00
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ଭୁବେନ�ରଠାରୁ ��ପରୁର ତାପମା�ା କ� । େରଖା�ିତ ପଦେର େକଉଁ ଅଥ�େର ପ�ମୀ ବଭି�ି େହାଇଛ?ି
 

(A) ବରିାମଅଥ�େବାଧ ଅଥ�େର 

(B) େହତୁଅଥ�େର 

(C) ତୁଳନାଥ�େର (Correct Answer) (Chosen option) 
 

(D) ର�ାଥ�କ ଶ� େଯାଗେର 

Question No.5 Marks: 1.00
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ବେିଶଷ� ପଦ- ‘�ୟ’ର ବେିଶଷଣ ରୂପ େଲଖ ।
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(A) �ିୟା 
(B) �ୀତ (Correct Answer)

 
(C) �ୟିତ (Chosen option) 

 
(D) �ିୟ 
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�ଦ� ଶ� ମ�ରୁ େକଉଁ ଶ�ଟ ିଠକି - ଚ�ିାଇ ଦଅି ?
 

(A) ତୂଳସୀ 
(B) ତୁଳସ ି

(C) ତୁଳସୀ (Correct Answer) (Chosen option) 
 

(D) ତୁଳଶୀ 
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‘େକୗେ�ୟ’ ଶ�ଟ ିକ ି�କାର ଶ�?
 

(A) ଯଙ� 

(B) ସନ� 

(C) କୃଦ� 

(D) ତ�ତି (Correct Answer) (Chosen option) 
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'ପ�ପାତ' - ଶ�ର ବପିରତି ଶ� କ'ଣ ? 
 

(A) କୁପ� 

(B) ନରିେପ� (Correct Answer) (Chosen option) 
 

(C) ବପି� 

(D) ଅପ�ପାତ 

Question No.9 Marks: 1.00
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ନହିାତ ିଦୁ�ପିଲା - େରଖା�ିତ ପଦଟ ିେକଉଁ �କାର ବେିଶଷଣ ?
 

(A) ବେିଶଷ�ର ବେିଶଷଣ 

(B) ବେିଶଷଣର ବେିଶଷଣ (Correct Answer) (Chosen option) 
 

(C) ସବ�ନାମ ବେିଶଷଣ 

(D) �ିୟା ବେିଶଷଣ 

Question No.10 Marks: 1.00
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'େରାଗୀ' - ଶ�ର ବପିରତି ଶ� କ'ଣ ?
 

(A) ନେିରାଗ (Correct Answer) (Chosen option) 
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(B) ନେିରାଗୀ 
(C) େଭାଗୀ 
(D) ନଃିେରାଗୀ 

Question No.11 Marks: 1.00
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‘କୁଶାସନ’ େକଉଁ ସମାସର ଉଦାହରଣ?
(A) ମ�ପଦେଲାପୀ କମ�ଧାରୟ (Correct Answer)

 
(B) �ଗୁି 

(C) �� 

(D) ଉପମତି କମ�ଧାରୟ (Chosen option) 
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‘ସାତ’ ଶ�ଟ ିେକଉଁ �କାର ଶ�?
 

(A) ତ�ବ (Correct Answer) (Chosen option) 
 

(B) େବୈଦଶକି 

(C) ତ� ସମ 

(D) େଦଶଜ 
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'�ୀଣ' - ଶ�ର ବପିରୀତ ଶ� କ'ଣ ?
 

(A) ମାଂସଳ 

(B) େମାଟା 
(C) ଅ�ୀଣ 

(D) ପୃଥୁଳ (Correct Answer) (Chosen option) 
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'ବାଳକବାଳକିା'- େକଉଁ ସମାସ ? 
 

(A) �� (Correct Answer) (Chosen option) 
 

(B) ଅବ�ୟୀଭାବ 

(C) କମ�ଧାରୟ 

(D) ବହୁ�ୀହ ି

Question No.15 Marks: 1.00
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‘େ�ୟସୀ’ର ପଂୁଲି� ବାଚକ ଶ�ଟ ିବାଛ ।
 

(A) େ�ୟସ 

(B) େ�ୟା�  (Correct Answer) (Chosen option) 
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(C) �ାୟସ 

(D) �ୟା�  

Question No.16 Marks: 1.00
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ବଡ଼ େଲାକ�ୁ ଉ�ର ନାହ� । େରଖା�ିତ ପଦଟ ିେକଉଁ ବଭି�ି?
 

(A) ତୃତୀୟା 
(B) ଚତୁଥ�ୀ (Correct Answer)

 
(C) �ତିୀୟା (Chosen option) 

 
(D) �ଥମା 

Question No.17 Marks: 1.00
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ଠକି ଶ�ଟ ିଚ�ିାଇ ଦଅି ।
 

(A) ଅନାବସ�କତା 
(B) ଅନାବଶ�କତା (Correct Answer) (Chosen option) 

 
(C) ଅନାଆବଶ�କ 

(D) ଅନାବଶ�କୀୟତା 

Question No.18 Marks: 1.00
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‘ନାଗ’ର �ତଶି�ଟ ିକଣ େହବ?
 

(A) ମା�ଡ଼ 

(B) ହାତୀ (Correct Answer) (Chosen option) 
 

(C) ମାଛ 

(D) ଗଧ 

Question No.19 Marks: 1.00
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ସମ�ୁ ଘ ୁଘ ୁଗଜ�ୁଛ ି। େରଖା�ିତ ପଦଟ ିକ ି�କାର ବେିଶଷଣ?
 

(A) ସଂଖ�ାବାଚକ ବେିଶଷଣ 

(B) ଗୁଣବାଚକ ବେିଶଷଣ 

(C) �ିୟାବେିଶଷଣ (Correct Answer) (Chosen option) 
 

(D) ବେିଶଷଣର ବେିଶଷଣ 

Question No.20 Marks: 1.00
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େକଉଁ �େୟାଗଟ ିଶୁ�?
 

(A) ବନିୟୀ ପବୂ�କ 

(B) ବନିୟ ପବୂ�କ (Correct Answer) (Chosen option) 
 

(C) ସବନିୟ ପବୂ�କ 
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(D) ସବନିୟୀ ପବୂ�କ 

Question No.21 Marks: 1.00
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'ଦଗିମ�ର'- େକଉଁ ସମାସ ? 
(A) �� 

(B) ବହୁ�ୀହ ି(Correct Answer) (Chosen option) 
 

(C) କମ�ଧାରୟ 

(D) �ଗୁି 

Question No.22 Marks: 1.00
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ଅଳପ ଧନ- େରଖା�ିତ ପଦଟ ିକ ି�କାର ବେିଶଷଣ?
 

(A) ଅବ�ାବାଚକ 

(B) ପରିମାଣ ବାଚକ (Correct Answer) (Chosen option) 
 

(C) ଗୁଣବାଚକ 

(D) ସଂଖ�ାବାଚକ 

Question No.23 Marks: 1.00
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ମାଡ଼କୁ ମହାେଦବ� ଡର । େରଖା�ିତ ପଦଟରି ବଭି�ି ନ�ି�ୟ କର ।
 

(A) ଷ�ୀ 
(B) ଚତୁଥ�ୀ 
(C) ସ�ମୀ 
(D) �ତିୀୟା (Correct Answer) (Chosen option) 

 

Question No.24 Marks: 1.00
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'ହାତୀ' - ଶ�ର ସମାଥ�େବାଧକ ଶ� କ'ଣ ?
 

(A) ବାରଣ (Correct Answer)
 

(B) ଅ� 

(C) ଅଚଳ 

(D) ମହୀଧର (Chosen option) 
 

Question No.25 Marks: 1.00
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‘ଭାଯ��ା’ର ପଂୁଲି� ବାଚକ ଶ�ଟ ିକଣ?
 

(A) ଭାଯ�� 
(B) ଭ��ା (Correct Answer) (Chosen option) 

 
(C) ଭ�ା 
(D) ଭା��ା 
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General Studies - General Studies

Question No.1 Marks: 1.00
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The Odisha State Agriculture Policy 2020, is also called _____. 
 (A) HARIYALI 

(B) HARIT-KRANTI 
(C) UNNATI (Chosen option) 

 (D) SAMRUDHI (Correct Answer)
 

Question No.2 Marks: 1.00
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Article 21A of the Indian Constitution deals with: 
 (A) Right to Education (Correct Answer) (Chosen option) 

 (B) Right to Freedom of Religion 
(C) Right against Exploitation 
(D) Right to Constitutional Remedies 

Question No.3 Marks: 1.00
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Who among the following can be appointed as Chairman of the National Human Rights
Commission of India?

 (A) Sitting Judge of the Supreme Court 
(B) Retired Chief Justice of the Supreme Court (Correct Answer) (Chosen

option) 
 (C) Retired Chief Justice of a High Court 

(D) Sitting Judge of a High Court 

Question No.4 Marks: 1.00
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Pradhan Mantri Shram Yogi Maandhan is a voluntary and contributory Pension Scheme
for Unorganized Workers for entry age of 18 to _________.

 (A) 40 Years (Correct Answer)
 (B) 50 Years (Chosen option) 

 (C) 60 Years 
(D) 45 Years 

Question No.5 Marks: 1.00
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In January 2022, a Maritime Partnership Exercise was held between the Indian Navy
and ______________.

 (A) United States Navy 
(B) Indonesian Navy 
(C) Japan Maritime Self-Defence Force (Correct Answer)

 (D) Royal Navy of United Kingdom (Chosen option) 
 

Question No.6 Marks: 1.00
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The average weight of 32 students in a class is 53.25 kg, and that of the remaining 16
students is 49.5 kg. Find the average weight of all the students in the class. (In Kg)

 (A) 44 
(B) 48 
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(C) 40 
(D) 52 (Correct Answer) (Chosen option) 

 

Question No.7 Marks: 1.00
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Rishabhadeva, the first tirthankara of Jainism was born at ______________.
 (A) Ratnapuri (Chosen option) 

 (B) Hastinapur 
(C) Kakandi 
(D) Ayodhya (Correct Answer)

 

Question No.8 Marks: 1.00
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Who among the following introduced the concept of 'Doctrine of Lapse' during British
India?

 (A) Lord Dalhousie (Correct Answer) (Chosen option) 
 (B) John Adam 

(C) John Shore 
(D) Warren Hastings 

Question No.9 Marks: 1.00
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A data card when sold for Rs.15875 fetches a profit of 27%. Find the cost price of the
data card.(In Rs.)

 (A) 12600 
(B) 12500 (Correct Answer) (Chosen option) 

 (C) 12750 
(D) 12450 

Question No.10 Marks: 1.00
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What is the minimum age for becoming a candidate for Lok Sabha election?
 (A) 21 Years 

(B) 23 Years 
(C) 25 Years (Correct Answer) (Chosen option) 

 (D) 24 Years 

Question No.11 Marks: 1.00
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What value should come in the place of question mark (?) in the following question?
 (4 + (3√5)2 = ? - (√5)2 + 191

 (A) 135 
(B) 137 
(C) -135 
(D) -137 (Correct Answer) (Chosen option) 

 

Question No.12 Marks: 1.00
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Find the next term in given series.
 CONFIDENCE, FIDE, ONFIDENC, ID, ?

 (A) FIDEN 
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(B) NFIDE 
(C) FIDENC 
(D) NFIDEN (Correct Answer) (Chosen option) 

 

Question No.13 Marks: 1.00
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A man walked 10km North, then 5km towards East and took a right turn and walked
10km, then turned right and walked 5km. Finally, he walked 12km towards South. How
far and in what direction is the starting point from the ending point? 

 (A) 7km, North 
(B) 7km, South 
(C) 12km, North (Correct Answer) (Chosen option) 

 (D) 12km, East 

Question No.14 Marks: 1.00
Bookmark     

What is the Biochemical Oxygen Demand (BOD) value of clean water?
 (A) Less than 5 ppm (Correct Answer)

 (B) 10 - 15 ppm 
(C) 15 - 20 ppm 
(D) More than 20 ppm (Chosen option) 

 

Question No.15 Marks: 1.00
Bookmark     

The Special Economic Zone in Bhubaneswar is related to:
 (A) Beach sand mineral processing 

(B) Aluminium 
(C) Business Process Outsourcing (Correct Answer) (Chosen option) 

 (D) Steel 

Question No.16 Marks: 1.00
Bookmark     

Which of the following writs in the Indian Constitution literally means 'To be informed'?
 (A) Habeas Corpus 

(B) Quo Warranto 
(C) Certiorari (Correct Answer) (Chosen option) 

 (D) Mandamus 

Question No.17 Marks: 1.00
Bookmark     

A finish a work in 1170 days and B can do the same work in 2340 days. Working
together, they will complete the same work in how many days?

 (A) 760 
(B) 780 (Correct Answer) (Chosen option) 

 (C) 820 
(D) 800 

Question No.18 Marks: 1.00
Bookmark     

Which Constitutional Amendment Act added a new part named "Fundamental duties" in
the Indian Constitution?
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(A) 42nd Constitutional Amendment act (Correct Answer) (Chosen option) 
(B) 4th Constitutional Amendment act 
(C) 54th Constitutional Amendment act 
(D) 2nd Constitutional Amendment act 

Question No.19 Marks: 1.00
Bookmark     

The Chief Election Commissioner and the Election commissioners are appointed by:
 (A) Prime Minister of India 

(B) Chief Justice of Supreme Court 
(C) Union Home Minister 
(D) President of India (Correct Answer) (Chosen option) 

 

Question No.20 Marks: 1.00
Bookmark     

A train, 705 metres long, is running at a speed of 113 km/hr. How many seconds will it
take to cross a 470 metres long train running in the same direction at a speed of 83
km/hr?

 (A) 139 
(B) 143 
(C) 145 
(D) 141 (Correct Answer) (Chosen option) 

 

Question No.21 Marks: 1.00
Bookmark     

Where was the 9th Edition of North East Festival held in January 2022?
 (A) Guwahati (Correct Answer) (Chosen option) 

 (B) Kohima 
(C) Agartala 
(D) Shillong 

Question No.22 Marks: 1.00
Bookmark     

Which of the following is declared as the heritage district of Odisha?
 (A) Gajapati (Chosen option) 

 (B) Ganjam 
(C) Bhadrak 
(D) Jajpur (Correct Answer)

 

Question No.23 Marks: 1.00
Bookmark     

Find the LCM of 21/22 and 23/24.
 (A) 473/2 

(B) 453/2 
(C) 463/2 
(D) 483/2 (Correct Answer) (Chosen option) 

Question No.24 Marks: 1.00
Bookmark     

The Indian Councils Act of 1909 is also called as:
 (A) Morley-Minto Reforms (Correct Answer) (Chosen option) 

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



 
(B) Curzon-Montego Reforms 
(C) Montagu-Chelmsford Reforms 
(D) Simon Reforms 

Question No.25 Marks: 1.00
Bookmark     

Which of the following is the smallest state in India in terms of area?
 (A) Meghalaya 

(B) Goa (Correct Answer) (Chosen option) 
 (C) Tripura 

(D) Assam 

Question No.26 Marks: 1.00
Bookmark     

Based on which committee's recommendations, the "Fundamental Duties" were added
to the Indian Constitution?

 (A) JVP Committee 
(B) Balakrishna Committee 
(C) Fazal Ali Committee 
(D) Swaran Singh Committee (Correct Answer) (Chosen option) 

 

Question No.27 Marks: 1.00
Bookmark     

A train takes 61 seconds to cross a bridge of length 99 m. If the same train takes 52
seconds to cross a man standing on the bridge, find the length of the train. (In m)

 (A) 592 
(B) 602 
(C) 572 (Correct Answer) (Chosen option) 

 (D) 582 

Question No.28 Marks: 1.00
Bookmark     

Who among the following was the ruler of Odisha during the visit of Sri chaitanya?
 (A) Prataparudradeva (Correct Answer) (Chosen option) 

 (B) Kapilendradeva 
(C) Chadaganadadeva 
(D) Purusottamdeva 

Question No.29 Marks: 1.00
Bookmark     

Ozone Layer is found in which of the following layers of the Atmosphere?
 (A) Thermosphere 

(B) Mesosphere 
(C) Exosphere 
(D) Stratosphere (Correct Answer) (Chosen option) 

 

Question No.30 Marks: 1.00
Bookmark     

A box containing the denominations of twenty five paise coins, one rupee coins and two
rupee coins amount to Rs.455. There are equal number of coins in all denominations.
What is the total number of coins in the box?
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(A) 420 (Correct Answer) (Chosen option) 
(B) 110 
(C) 140 
(D) 440 

Question No.31 Marks: 1.00
Bookmark     

The Tropic of Cancer passes through how many states of India?
 (A) 8 (Correct Answer) (Chosen option) 

 (B) 7 
(C) 6 
(D) 9 

Question No.32 Marks: 1.00
Bookmark     

In Lord Jagannath Temple (Puri), the Construction of the chariots began on the
auspicious occasion of:

 (A) Akshaya Tritiya (Correct Answer) (Chosen option) 
 (B) Makarasankranti 

(C) Chaitra Navaratri 
(D) Kartik Purnima 

Question No.33 Marks: 1.00
Bookmark     

What is the percentage of rural population in India according to 2011 Census?
 (A) 73.32% (Chosen option) 

 (B) 59.5% 
(C) 78.31% 
(D) 68.84% (Correct Answer)

 

Question No.34 Marks: 1.00
Bookmark     

The standard meridian of India is:
 (A) 66o 30' E 

(B) 84o 30' E 
(C) 82o 30' E (Correct Answer) (Chosen option) 

 (D) 88o 30' E 

Question No.35 Marks: 1.00
Bookmark     

As per census 2011, the female literacy rate is the lowest in which Indian state?
 (A) Jharkhand 

(B) Odisha 
(C) Haryana 
(D) Bihar (Correct Answer) (Chosen option) 

 

Question No.36 Marks: 1.00
Bookmark     

Find the next number in the series.
 567, 645, 569, 643, 571, ?
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(A) 641 (Correct Answer) (Chosen option) 
(B) 651 
(C) 661 
(D) 631 

Question No.37 Marks: 1.00
Bookmark     

Find the next number in the series.
 2, 3, 9, 40, 196, ?

 (A) 977 (Correct Answer) (Chosen option) 
 (B) 957 

(C) 967 
(D) 947 

Question No.38 Marks: 1.00
Bookmark     

If N234724 is divisible by 11, find the value of the smallest natural number N.
 (A) 8 

(B) 5 (Correct Answer) (Chosen option) 
 (C) 7 

(D) 6 

Question No.39 Marks: 1.00
Bookmark     

Read the given details carefully and answer the question given below
 

A+B means A is the brother of B
A-B means A is the sister of B

 A*B means A is the father of B
 A/B means A is the mother of B
 

In the relation P-Q+R-S+T, how is R related to T?
 (A) Cousin 

(B) Sister (Correct Answer) (Chosen option) 
 (C) Brother 

(D) Father 

Question No.40 Marks: 1.00
Bookmark     

In a certain code language, if HUSBAND is coded as IVTDDQG, then how is MONSTER
coded in that language?

 (A) SFUTOPN 
(B) NNORUDS 
(C) NPOUWHU (Correct Answer) (Chosen option) 

 (D) NPORUFS 

Question No.41 Marks: 1.00
Bookmark     

If 20% of 320 is x% less than 40% of 460, find x. (Up to two decimals)
 (A) 65.21% (Correct Answer) (Chosen option) 

 (B) 120% 
(C) 72.13% 
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(D) 84.26% 

Question No.42 Marks: 1.00
Bookmark     

Which is the oldest dam in India?
 (A) Sardar Sarovar Dam 

(B) Nagi Dam 
(C) Kallanai dam (Correct Answer) (Chosen option) 

 (D) Lakhya Dam 

Question No.43 Marks: 1.00
Bookmark     

A woman walked 13km in the West direction, took a left turn and walked 6km and
walked 34km after taking another left. She then walked 6km in the North direction and
finally took a left turn and covered the distance of 8km. How far is the starting point from
the ending point?

 (A) 15km 
(B) 19km 
(C) 13km (Correct Answer) (Chosen option) 

 (D) 17km 

Question No.44 Marks: 1.00
Bookmark     

Find the fraction of 0.3585858 … 
 (A) 335/990 (Chosen option) 
 (B) 345/990 

(C) 365/990 
(D) 355/990 (Correct Answer)

 

Question No.45 Marks: 1.00
Bookmark     

Which of the following Articles of the Indian Constitution deals with "Abolition of
Untouchability"?

 (A) Article 18 
(B) Article 17 (Correct Answer) (Chosen option) 
(C) Article 20 
(D) Article 21 

Question No.46 Marks: 1.00
Bookmark     

In this question, a statement is given followed by two conclusions numbered i and
ii. You have to assume everything in the statement to be true, then consider the
two conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statement.

 Statement: Today's younger generation loves to include potato chips as a snack.
 Conclusion:

 i) Today's younger generation takes a lot of snack.
 ii) Old people don't prefer potato chips.

 
Choose the appropriate one from the following options

 (A) Only conclusion i follows
 (B) Only conclusion ii follows
 (C) Either i or ii follows
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(D) Neither i nor ii follows
(E) Both i and ii follow.
(A) D (Correct Answer) (Chosen option) 

 (B) A 
(C) B 
(D) C 

Question No.47 Marks: 1.00
Bookmark     

In 1918, where did Mahatma Gandhi lead the strike of Mill Workers?
 (A) Kolkata 

(B) Nagpur 
(C) Ahmedabad (Correct Answer) (Chosen option) 

 (D) Champaran 

Question No.48 Marks: 1.00
Bookmark     

The tableau of which state has been selected as the best tableau among the 12
States/UTs which participated in the Republic Day parade on January 26, 2022?

 (A) Uttarakhand 
(B) Haryana 
(C) Arunachal Pradesh 
(D) Uttar Pradesh (Correct Answer) (Chosen option) 

 

Question No.49 Marks: 1.00
Bookmark     

Three numbers are in the ratio 19:21:23. If the difference between thrice the third
number and the sum of first and second number is 841, find the difference between the
first and third number.

 (A) 136 
(B) 146 
(C) 116 (Correct Answer) (Chosen option) 

 (D) 126 

Question No.50 Marks: 1.00
Bookmark     

The first excavations at the Sisupalgarh site were carried out by:
 (A) R.D. Benarjee 

(B) K.C. Panigrahi 
(C) B.B. Lal (Correct Answer)

 (D) R.L. Mitra (Chosen option) 
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